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ning: col ['kOraw', 'kOavg'] is missing

25 50

75

100

125

150

5.2 4

5.1+

5.0 A

4.9

4.8

klavg

—@— klraw
— k1

o A l o A

25 50

75

T
100

T
125

T
150

0.45

0. 40 -

0. 35 -

0. 30

—0

k2avg

—@— k2raw
— k2

s

0 25 50

75

T
100

T
125

T
150

T
175

18

16

14 -

12

10

Warning: col [ Tblraw', 'Tblavg'] is migsing
1
1

—— Tbl

0 10

30

40

"Tb1’ 1]



P3-12 D:14 2025-04-15

40

30 A

20

obsT
——— predT

L) o & o
.0\."‘0’0"0’0‘. . *ad
.

Tout
Ts

10

25 30

1000

800

600

400

200

/
. /
e U=«

25 3

40

30

20

10

10

0 5 10 15 20




